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4.1
Perform the operation and write the result in standard form. g
. “
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Use a graphing utility to write the complex number in standard form. (Round all numerical values to four decimal places.)
T oy oicim IT T ~. "
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3.3 Applications
Use the figure to determine the tension in each cable supporting the load. (Round your answers to one decimal place.]
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U+Vv= Lo 034>
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{ans}
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1327.599213
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= _ w530, 53077
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The analogue of using dot product to find magnitude of a vector is

el \[z2 = \Bri) (abi) (b
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DeMoivre

:LC = |%‘<w;e+ ?;._.9\
Fws (wl (uscb_)-?s\;.d)w
|2llw! (¢eos (e+d) +isc (e+d)

=7 W=

Thus, multiplication in the complex plane involves ROTATION. Multiplying complex numbers
of magnitude 1 results in a pure rotation about the unit circle.

Roots of Unity a= ¥l (s& 4-Fs~26\
n = l%—‘“ ({,95 (n @'\ NP N (m 9\3
/

2

ok Tome  Rpo™s:

Get midterms and grade report back tonight/tomorrow morning.
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